* N N

Minusrechnen (bis 10 000)

Subtrahieren

Aufgabe 1 Aufgabe 2

1. 6926 - 5324 = 1. 9634 - 4005 =
2. 6014 - 4052 = 2. 9672 - 8718 =
3. 7507 - 6104 = 3. 5867 - 2848 =
4. 7723 - 1568 = 4. 8716 - 1000 =
5 8441 - 5529 = 5 1978 - 1735 =
6. 9595 - 7742 = 6. 7041 - 1745 =
7. 9773 - 7000 = 7. 6052 - 2227 =
8. 2052 - 1559 = 8. 4101 - 3320 =
9. 9592 - 4382 = 9. 4389 - 3616 =
10, 7615 - 3450 = 10, 6327 - 3709 =
Aufgabe 3 Aufgabe 4

1. 7158 - 1390 = 1. 4780 - 2097 =
2. 8999 - 7562 = 2. 9993 - 6346 =
3. 9966 - 5666 = 3. 9295 - 4088 =
4. 8247 - 6226 = 4. 7927 - 5764 =
5 7416 - 2765 = 553629 - 1221 =
6. 6443 - 2053 = 6. 6790 - 2980 =
7. 6203 - 5671 = 7. 4486 - 3902 =
8. 2750 - 2607 = 8. 7880 - 2075 =
9. 7631 - 4088 = 9. 3060 - 2814 =
10, 2776 - 1366 = 10. 5529 - 1574 =
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* N N

Minusrechnen (bis 10 000) | ANTWORTEN

o
Qe

Subtrahieren

Aufgabe 1 Aufgabe 2

1. 6926 - 5324 = 1 602 1. 9634 - 4005 = 5 629
2. 6014 - 4052 = 1962 2. 9672 - 8718 = 954
3. 7507 - 6104 = 1403 3. 5867 - 2848 = 3019
4. 7723 - 1568 = 6 155 4. 8716 - 1000 = 7716
5 8441 - 5529 = 2912 5 1978 - 1735 = 243
6. 9595 - 7742 = 1853 6. 7041 - 1745 = 5 296
7. 9773 - 7000 = 2 773 7. 6052 - 2227 = 3825
8 2052 - 1559 = 493 8 4101 - 3320 = 781
9. 9592 - 4382 = 5210 9. 4389 - 3616 = 773
0. 7615 - 3450 = 4 165 0. 6327 - 3709 = 2 618
Aufgabe 3 Aufgabe 4

1. 7158 - 1390 = 5 768 1. 4780 - 2097 = 2 683
2. 8999 - 7562 = 1437 2. 9993 - 6346 = 3 647
3. 9966 - 5666 = 4 300 3. 9295 - 4088 = 5 207
4. 8247 - 6226 = 2 021 4. 7927 - 5764 = 2163
5 7416 - 2765 = 4 651 53629 - 1221 = 2 408
6. 6443 - 2053 = 4 390 6. 6790 - 2980 = 3810
7. 6203 - 5671 = 532 7. 4486 - 3902 = 584
8. 2750 - 2607 = 143 8. 7880 - 2075 = 5 805
9. 7631 - 4088 = 3543 9. 3060 - 2814 = 246
10, 2776 - 1366 = 1410 10. 5529 - 1574 = 3 955
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